FTMREREFEREELTRALE (B = F) (GLE)

w | | BRE : ¥ | mF O R -
7 3R w | wn 7R A iR 3 A i B | S | iR
14 % 5] B 31 9 253 17 | 138 5
20
% T30k % 1.6 | 0.45 |12.65|0.85| 6.9 | 0.25
ST sags | 17 | 10 | 191 | 21 | 141 | 9
g4 20
% & T3k 0.85| 0.55 | 9.55 |1.05|7.05| 0.45
16 %3] B 43 13 312 33 | 117 | 13
20
& T3k H 2.15| 0.65 | 15.6 |1.65|5.85]| 0.65
14 %3] B 6 8 16 3 15 1
20
& T3k 0.3 | 0.4 0.8 [0.15[0.75| 0.05
shiE | 15 2 %3] B 10 12 20 2 11 0
£ 7 30k B 0.5 | 0.6 1 0.1 10.55| 0
16 % 5] B 11 15 18 4 16 1
20
& T3k 0.55| 0.75 | 0.9 | 0.2 ] 0.8 | 0.05
14 U4 8 5 31 0 27 0
6
s & T3k 1.33 | 0.83 | 5.17 0 |4.50| 0
I
53 | 15 ¢ % 5] B 2 3 30 1 19 1
L | A T3k 0.33] 0.50 | 5.00 |0.17|3.17| 0.17
2 &
16 %3] B 23 0 42 0 16 0
11
& T3k 2.10 0 3. 82 0 [1.45] 0
14 %3] B 19 8 24 16 | 11 0
22
. % T30k % 0.86 | 0.36 | 1.09 |0.67] 0.5 0
L
i | 15 ” %3] B 15 11 17 9 13 0
FL | AR ¥y ok K 0.68 0.5 0.77 | 0.41]0.59| 0
2 &
16 %3] B 7 5 11 8 14 0
24
% T30k % 0.29 [ 0.208 | 0.46 | 0.33/0.58| 0
14 3 E 0 0 0 0 0 0
N 7
C;" 71 K 0 0 0 o | o | o
15 7 P 5 7 13 0 6 0




23 FHok4 071 1.0 | 1.86 | 0 |0.86| 0
16 T3 6 8 10 0 8 0
7
23 FHokd4c |0.86( 1.14 | 1.43 | 0 |1.14| O
14 T3 B 10 0 30 | 10 | 15 | 23
23
% FHKd 043 0 | 01.3(0.43[0.65| 1
R sEss | 8 | 0 | 5 | 0 | 2| o0
k|, 23
z | A FHk% 035 0 |022| 0 |08 0
16 T3 B 8 0 30 | 10 | 15 3
23
23 FHokE ]0.34] 0 1.3 10.43(0.65/ 0.13

E:RTRBABLERTH LRI FHRBRBEINNERMR A TR E,




FMRFEREFREELLZARE (F_= A) (LE)

ATH% "
i | o fj; HA | Bkt f?” s | | om | om |- %
H= ) & E]
18
3
TE 0| 28 |30 o 6 9| 2 | 3
14 4
a | 2[5
” b | 11| 1.4 | 1.5 | 0]0.30]0.45|0.10|0.15
KEK
. &3
5% TE 40| 52 [ e |0 14| 18| 5 | 3
Lot 15 "?JZXESI(
B o 40 En
£ | | 1| 1.3 ] 1.7 | 0]0.35]0.45|0.13|0.08
RKE
1
TE a5 | 377 | 163 [0 | 61 | 126 | 37 | 14
16 g4
m | 24 e
) e | 1.35]1.73 [ 0.75 | 0 | 0.28]0.58|0.17 | 0.06
kR H#
3
SH 0 a0 |12 lo| 7] 6| 2] 2
14 B2
a | 2 [#5
) e |1 2 |06 |0035/|03|01]|0.1
k3
% 7|
G| 15| 56 | 13 o | 13| 5 | 4 | 3
shiE | 15 B3
2| w | P [
e | 0.75] 2.8 | 0.65 | 0 [0.65]0.25| 0.2 |0.15
k3
% 7|
Y| 13| 72 9 0|6 7 | 5 | 1
16 B
a | 2[5
” b4 |0.65| 3.6 | 0.45| 0 |0.3 |0.35[0.25]0.05
KE
% 3
| ek 0 7 o (0| 3] 0] 0] O
7 37
% “Lf 0 [233] 0 |O0|to0l O | 0 [ O
KEK
A % 3
g |1 0 0 [0 1 o[ 0 |0
53x | 15 1 BB
BRI | % 39
1.00| 0 0 |0[1.00] 0 | 0 | O
12 & RE
B 7|
s | 2 9 0 [0 3 | f 0o | 0
16 4 B R
E T 32
% J,ff 0.502.25| 0 |0 [0.75(0.25 0 | 0
R H#




e
T%IJ 10 15 3 0 9 13 2 0
14 BA
2% 50 T3y
" 0.2 0.3 0.06 | 0 |0.18]0.26|0.04 0
REK
% 3
. 8 13 6 0 11 13 4 0
R | 15 50 B
B B 3£
# A _T,:f 0.16]0.26 0.12 | 0 [ 0.22]0.26|0.08 0
R E
%?J 3 20 8 0 8 15 3 0
16 50 A4
é S
A _T_.,,J 0.06| 0.4 0.16 | 0 | 0.16 | 0.3 | 0.06 0
R E
%?J 20 15 5 0 12 7 3 0
14 A4
5 22 T
. 10.91] 0.68 | 0.23 | 0 | 0.55(0.32|0.14 0
R E
1% 8 %%ﬂ 20 15 5 0 12 7 3 0
.| 15 B &
I AL - 22 En
Z ( ‘M; 0.91 ] 0.68 | 0.23 | 0 | 0.55(0.32|0.14 0
R E
%%IJ 15 20 2 0 13 9 0 0
16 99 B
E B 3£
A _T,:f 0.68| 0.9 0.09 | O [0.59|0.41 0 0
R E
%%IJ 3 1 9 0 1 6 7 1
14 15 B
E B 3£
A _T__,lj 0.2 | 0.07 0.6 0 [0.07] 0.4 [{0.470.07
RE
ALAR % 3|
. 4 3 8 0 3 8 4 0
54| 15 5 B
25 I
FIT | 2% 34
0.27| 0.2 0.53 | 0| 0.2 [0.53]0.27 0
R e
3|
V. 3 5 6 0 2 9 3 1
16 5 A4
é S
A —T;; 0.2 0.33 0.4 0 10.13] 0.6 | 0.2 |0.07
R E
A

E: TR E LTS
EOEfRY

A, FHRBABREINAZLOERBRULEHE




FMNRETRRFRFGA IFRAEEFL

£ = B
Z 3 F o5 FaId-FHEHnE B8 SI-FHEHE &ix
14 %% - _
BRI T4 A 15 & - 69% %
16 & 100% 100%
14 % - -
Y 15 & - 77.31% W8 3] h %@iﬂi 4%%%;%
16 4 97.51% 100% PR )k B R R, AR
A AR )| 2k
14 % - -
281 H% 15 2% - 69% iR, TR, IR
16 & - 100%
14 % - _
BiFEEE 15 & - - RAFTHRFHF R A
16 4 94. 7% 93%
14 %% - _
INE F 15 & - 96% 1M1 AFB, 1AV R
16 & 97% 98%
LRE 14 % 0 0 K% ALFW®AD, KRZEA




15 %

0

16 &

92%

96%

TR g )

E: HBHEF-RFHHHE, FESHRIGHLI AR A,




